5. PBB#H*

R fnzestt PBB{#E A&
=0 JALG IL—T 85%
[l ANAY )L—T 63%
Je JALY IL—T 81%
Je L ARE—=T54Y¥— 90%
126 JALY IL—T 99%
12 ANAY )L—T 100%
f2h RE—051(¥— 75%
12 ANAI—Y 95%
Ei% JALY IL—T 83%
Ei& ANAY JL—T 99%
Ei% YSURI7F 90%
AR JALZ IL—T 98%
REXR ANAS )L—T 87%
X YSLRLIF 85%
PN JALY IL—T 80%
b ANAS )L—T 87%
PNy YISURIF 94%
=I5 JALY IL—F 66%
=I5 ANAS )L—T 69%
=I5 VYSVRIT 88%
BRE JALY IL—T 98%
BERE ANAS )L—T 93%
BRE ABA<—Y 77%
BERE YSLURIY 94%
AR JALY IL—T 100%
Ei ANAY JL—T 97%
AR ABA<—Y 97%
Bd JALY IL—F 100%
=] ANAS )L—T 100%
HaiE JALZ IL—T 100%
aE ANAS )L—T 99%

[R1.7]
OFHZEH
R fnzestt PBB{#EA®
i Bl JALY L—T 96%
2 Al AIRDO 53%
HBJI JALY IL—T 100%
HEJII AIRDO 72%
i | -3 JALY IL—T 85%
i | 23 ANAS )L—T 72%
IR AIRDO 48°%
wih JALZ IL—T 95%
Wik AIRDO 41%
FTE JALZ IL—T 97%
i ANAS )L—T 100%
FTE AIRDO 67%
i AHAR—Y 93%
ERIEE JALY IL—F 99%
[ ANAS )L—T 92%
ERIEE AIRDO 72%
E JALY IL—T 98%
F\H ANAY JL—T 82%
NN JALY IL—T 96%
MR ANAY JL—T 96%
ok JALY IL—T 100%
&R ANAS )L—T 94%
#51 JALY IL—T 100%
#1 ANAY JL—T 100%
E3kii] JALY IL—T 94%
B8 78 ANAY JL—T 97%
E3kii] RA=054¥— 59%
#HE ANAS )L—T 94%
#HE AHAR—Y 89%
i Ll JALY IL—F 95%
fif Lt ANAS )L—T 82%
LEE JALZ IL—T 89%
IN=T ANAS )L—T 91%
WA JALZ IL—T 75%
WA FE ANAS )L—T 88%
WA RAE—=T054Y¥— 81%
[N JALY IL—T 94%
= ANAY JL—T 84%
wE JALY IL—T 98%
mE ANAY )L—T 75%
AL JALY IL—T 84%
AL ANAY JL—T 96%

OHFTEREE

R fnzestt PBB{#EA®
FH JALG IL—T 100%
FHE ANAG JL—T 100%
FH AIRDO 100%
FHE ANAI—Y 93%

Al JALY IL—T 74%

2 Al ANAY JL—T 74%
T JALY IL—T 87%
ks ANAS )L—T 64%
E JALY IL—T 94%
F\H ANAY JL—T 58%
we JALY IL—T 98%
NS ANAY JL—T 96%
e AIRDO 100%
NS Peach* Aviation 55%
we FARYIRIT SR 0%
s JALZ IL—T 99%
s ANAS )L—T 87%
oAz JALZ IL—T 100%
A% H ANAS )L—T 99%
mE STybRE—- TRy 83%
A% H IN=5-TF 65%
oAz EMMEAR 90%
ok JALY IL—T 100%
&R ANAS )L—T 100%
ok AIRDO 97%
HEB SrybRE—-Dwily 51%
ok IFTFOT-TxiNv 56%
hg ANAY—4H 98%
#51 JALY IL—T 100%
#1 ANAY JL—T 100%
3kt JALY IL—T 100%
B8 78 ANAY JL—T 100%
£S5 Peach - Aviation 95%
B g STybRE—- TRy 100%
#HE ANAS J)L—T 100%
#HE AIRDO 77%
#HE AHAR—Y 71%
LE JALZ IL—T 100%
L5 ANAS )L—T 100%
12 JALZ IL—T 100%
126 ANAS )L—T 100%
1= Peach* Aviation 100%
&8 AHAR—Y 67%




ORIFZ#

OfIpgZEH
R fnzestt PBB{#E A&
FH JALG IL—T 100%
FHE ANAYT JL—T 100%
FH AIRDO 100%
OHEEH
R fnzestt PBB{#EA®E
FH JALG IL—T 100%
FHE ANAYT JL—T 100%
FH AIRDO 100%
&R ANAS )L—T 100%
ok AIRDO 100%
#1 JALY IL—F 100%
#51 ANAS )L—T 100%
OFBaEH
R fnzestt PBB{#EA®
oT=E JALT IL—T 100%
FTE ANAS )L—T 96%
#3 JALY IL—T 100%
#1 ANAY JL—T 98%
#51 FARYHRITSAV R 98%
1= ANAS )L—T 95%
f2h FARYHRITSAV R 100%
2k 7V MY =LITFAVR 100%
O/ AZE}
ERER Mzt PBB{# &
HHE JALG IL—T 100%
F1HE ANAS )L—T 100%
12 ANAS )L—T 100%
126 FARYIRITSAVR 98%

OLEZEH
R fiZestt PBB{#EA®
FH JALG IL—T 100%
FHE ANAG JL—T 100%
i JALY IL—T 100%
FTE ANAS )L—T 100%
54z FARYIRITSAVR 98%
Az EMmEAR 100%
OEEEHE
ERER Mzt PBB{# &
HHE JALG IL—T 100%
F1HE ANAS )L—T 100%
Odt iz
R fiZestt PBB{#EA®
FH JALG IL—T 100%
FHE ARE—=T54Y¥— 100%
OMLZEHE
ERER Mzt PBB{# &
HHE JALG IL—T 100%
F1HE ANAS JL—T 100%
#1 JALY IL—F 100%
#F ANAS )L—T 87%
OEsZEH
R fiZestt PBB{#E A&
FH JALG IL—T 100%
FHE ANAG JL—T 100%
OKXHZE}
ERER Mzt PBB{# &
HHE JALT IL—T 100%
F1HE ANAS JL—T 100%
FHE JYSURTY 100%
#F JALY IL—T 92%
R FARYIRITSAVR 0%

R fnzestt PBB{#EA®
FH JALG IL—T 100%
FHE ANAG JL—T 100%
FH YSURI7F 100%
#1 JALY IL—F 100%
#F ANAS )L—T 100%
OfERZHE
R fnzestt PBB{#EA®
FH JALG IL—T 100%
FHE ANAG JL—T 100%
FH YSURI7F 100%
#1 JALY IL—F 100%
#F ANAS )L—T 99%
(OF= ek
R fnzestt PBB{#EA®
FH JALG IL—T 100%
FHE ANAG JL—T 100%
FH YSURI7F 100%
#1 JALY IL—F 100%
#51 ANAS )L—T 100%
12 JALZ IL—T 100%
126 ANAS JL—T 100%
&k FVIVRNIT I 91%
OERBEEE
R R Mzt PBB{# &
HHE JALT IL—T 100%
F1HE ANAS JL—T 100%
FHE ANAI—Y 67%
FH YSVRI7F 100%
&R ANAS )L—T 100%
th & STybRA— Ty 96%
&R AHII—% 66%
ok YSURI7F 100%
#1 JALY IL—F 100%
#3 ANAS )L—T 100%
=TE JALY IL—F 98%
T/E AHAR—Y 66%




(OF [ itz

R fnzestt PBB{#E A&
FH JALG IL—T 100%
FH ANAD JL—T 97%
FH AAA1R—Y 91%
Az ANAG JL—T 98%
R H Peach* Aviation 74%
mE SrykRA—- TRy 59%
ok JALY IL—T 94%
&R ANAG JL—T 72%
e ak:1 CIyhRE— Tyl 40%
&R AHAT—1 95%
ok YSVRI7F 73%
#1 JALY IL—F 100%
#51 ANAS )L—T 97%
B8 78 JALY IL—F 80%
E3kii] ANAS )L—T 80%
B8 78 Peach* Aviation 70%
E3kic] STYRRE— TRy 58%
#HE AHAT—1 80%
#HE YSVRI7F 98%
12 JALZ IL—T 95%
f&E ANAS )L—T 96%
1= Peach* Aviation 94%
f&E AHAR—Y 95%
Bd JALY IL—F 89%
=] ANAS )L—T 89%
HaiE JALZ IL—T 85%
RE ANAS )L—T 91%
HaiE YSLURIY 76%




[R1.8]

iR fizestt PBB{# H =
=0 JALT IL—T 87%
= ANAY )L—T 83%
Jt L JALY IL—T 89%
e Lo ARE—D054 ¥ — 90%
12 JALY )L—T 100%
12 ANAY )L—T 100%
12 ARA—I54 ¥ — 74%
12 AHA<T—H 93%
K& JALY )L—T 92%
KB ANAY JL—T 98%
KB VYSURIT 86Y%
HER JALY )L—T 99%
HER ANAY )L—T 89%
HER VYSURIT 78%
PN JALY IL—T 66%
PN ANAY JL—T 63%
PN VYSURIT 91%
=I5 JALY )L—T 65%
=I5 ANAY )L—T 68%
=I5 VYSURIT 84%
BERE JALY )L—T 99%
BERE ANAY )L—T 81%
BERE AHA<T—H 78%
BERE YSVRIF 85%
AR JALY IL—T 100%
AR ANAY JL—T 97%
AR AHAT—4 97%
AR VYSURIT 100%
= JALY IL—T 100%
= ANAY JL—T 100%
#AiE JALY )L—T 99%
A ANAY )L—T 97%

OFHZEH
ERR Tt PBB{f %
ZiE Al JALG JL—T 97%
2 Al AIRDO 56%
JBJII JALY IL—T 100%
JEJI AIRDO 58%
Il E% JALY )L—T 99%
Il E% ANAS )L—T 79%
Il % AIRDO 74%
Gl JALG IL—T 97%
i/ AIRDO 79%
T JALY )L—T 97%
T ANAS J)L—T 100%
T AIRDO 81%
T AHA<T—H 95%
BHEE JALY )L—T 98%
BHEE ANAS )L—T 89%
BHEE AIRDO 94%
FAE JALY IL—T 94%
FAE ANAY JL—T 84%
N JALY IL—T 86%
N ANAY JL—T 91%
&R JALY JL—T 100%
&R ANAS )L—T 97%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
ESTii] JALY IL—T 97%
ESTii] ANAY JL—T 96%
ESTii] ARA—D514¥— 59%
#HE ANAS J)L—T 89%
#HE AHA<T—H 83%
il L JALY IL—T 90%
il L ANAY JL—T 86%
LE JALY IL—T 93%
LE ANAY JL—T 85%
M=ETL JALY )L—T 72%
M=ETL ANAS J)L—T 88%
M=ETL ARRA—T54¥— 80%
= JALY IL—T 91%
= ANAY JL—T 78%
mE JALY )L—T 96%
mE ANAS J)L—T 69%
AL JALY IL—T 75%
AL ANAY JL—T 96%

OFTHREE

iz =t PBB{# %
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
FH ANAT—1 99%

2 Al JALY IL—T 70%

2 Al ANAY JL—T 78%
a5 JALY )L—T 84%
a5 ANAS J)L—T 74%
FAE JALY IL—T 61%
FAE ANAY JL—T 53%
& JALY IL—T 96%
& ANAY JL—T 94%
& AIRDO 99%
& Peach* Aviation 52%
& FARYHRITSAVR 0%
i) JALY )L—T 99%
i) ANAS J)L—T 88%
o] JALY )L—T 100%
o] ANAS J)L—T 100%
o] SIYrRE— Sy 87%
o] IN=5-I7F 81%
o] EMMEER 90%
&R JALY )L—T 100%
ok ANAS JL—T 100%
ok AIRDO 100%
th CIYbRE— TRy 52%
ok IFFOT TRy 66%
ok AHA<T—H 98%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
ESTii] JALY IL—T 100%
ESTii] ANAY JL—T 100%
ESTii] Peach* Aviation 96%
ESTii] PE S e A 100%
#HE ANAS JL—T 100%
#HE AIRDO 61%
#HE AHA<T—H 70%
LE JALY IL—T 100%
LE ANAY JL—T 100%
f2 8 JALY IL—T 100%
f2 8 ANAY JL—T 100%
f&h Peach*Aviation 98%
12 ANAT—1 55%




Oz

iz =t PBB{# &
HH JALG JL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
OHEEZTHE
ERiR =t PBB{# %
HH JALG JL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%
&R ANAS J)L—T 100%
&R AIRDO 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
O#FaZE
iz Tt PBB{f %
T JALG JL—T 100%
T ANAS J)L—T 98%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
F ] FARYIRIFT AV R 97%
f2 ANAY JL—T 98%
1= FARYIRIFT 5LV R 97%
f2 7Y NY=LITFAVR 100%
O/MRTEH
iz =t PBB{# &
HH JALG JL—T 100%
FH ANAY JL—T 100%
f2 ANAY JL—T 100%
1= FARYIRIFT AV R 100%

OLBZEE
PR R =l PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
T JALY )L—T 100%
T ANAY )L—T 100%
A FARYIRITFAVR 97%
A H EMMEEAR 100%
ORBEZEHE
R R Al PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
Odb i ze i
RS =l PBB{#H =
FIH JALT IL—T 100%
FIH ARA—I54 ¥ — 100%
OMLZEH
PR R =l PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
F51 JALY IL—T 100%
F51 ANAY JL—T 79%
OEMZEH
R R Al PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
(OP.N EF:
PR R Al PBB{# H =
FIH JALT IL—T 100%
FH ANAY JL—T 100%
FIH YSVRIF 100%
F51 JALY IL—T 100%
FFH FARYIRITSAVR 0%

ORIBZEHE
iz =t PBB{# %
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
ORERZHE
iz =t PBB{# &
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 98%
OEIFZEHE
iz =t PBB{# &
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH YSURIF 100%
F1 JALY IL—T 100%
FF ANAY JL—T 98%
f2 JALY IL—T 100%
f2 ANAY JL—T 90%
1&[E 2 Y Ve iy o A YD 83%
OERREZEE
iz =t PBB{# &
HH JALT )L—T 100%
FH ANAY JL—T 100%
FH AHA<T—H 65%
FH YSURIF 100%
&R ANAS J)L—T 89%
&R CIYbRE— Ty 96%
&R AHA<T—H 74%
&R JYSURIY 100%
F1 JALY IL—T 100%
F1 ANAY JL—T 100%
TX JALY )L—T 97%
TX AHA<T—H 75%




OMF=#E

BRHR fnZestt PBB{FAE
HH JALG JL—T 98%
FH ANAY JL—T 97%
FH ANAT—1 92%
FH YSURI7T 100%
o] ANAS J)L—T 98%
oA Peach* Aviation 61%
o] SIYrRE— Sy 66%
&R JALY )L—T 95%
&R ANAS J)L—T 79%
&R SIYrRE—- Sy 57%
&R AHA<T—H 94%
&R YSVRIT 75%
F1 JALY IL—T 100%
F1 ANAY JL—T 95%
ESTii] JALY IL—T 86%
ESTii] ANAY JL—T 86%
ESTii] Peach* Aviation 54%
ESTii] PE S e A 53%
#HE AHA<T—H 76%
#HE YSVRIT 98%
f2 JALY IL—T 96%
f2 ANAY JL—T 93%
f&h Peach* Aviation 97%
12 AHAT—1 98%
Bo JALY IL—T 94%
Bo ANAY JL—T 88%
HAiE JALY )L—T 89%
HAiE ANAS J)L—T 91%
HAiE YSVRIT 75%




[R1.9]

R Zest PBB{#
=0 JALG JL—T 86%
=50 ANAY JL—T 83%
Bl R JALY IL—T 88%
Jb RA=T54Y¥— 90%
P JALG IL—T 100%
P ANAY JL—T 100%
1= P e e 74%
& fif] ABLAI—Y 91%
Ei& JALY )L—T 82%
Ei& ANAY JL—T 97%
Ei& VYSURIT 85%
RER JALY )L—T 99%
RER ANAY JL—T 77%
RER YSURIT 90%
PN JALY )L—T 62%
PN ANAY JL—T 56%
PN YSURIT 91%
= 15 JALG IL—T 68%
=I5 ANAY JL—T 68%
=I5 YSURIT 90%
BERE JALG IL—T 99%
BERE ANAS )L—T 81%
BERE AHhA<—H 73%
BERE YSURIF 93%
ARER JALY )L—T 97%
ARER ANAY JL—T 97%
ARER AHAI—Y 95%
Bo JALY IL—T 100%
Bo ANAY JL—T 100%
ARE JALY )L—T 100%
RE ANAY JL—T 98%

OFHEE
BRIR MZet PBB{# &%
2 Al JALT )L—T 92%
2 Al AIRDO 39%
HBJII JALY IL—T 100%
JEJI| AIRDO 49%
Il 2% JALY IL—T 93%
Il 2% ANAY JL—T 80%
Il 2% AIRDO 74%
Gl JALY IL—T 94%
wiA AIRDO 56%
b JALY IL—T 97%
s ANAY JL—T 100%
s AIRDO 80%
s ANII—Y 94%
EKEE JALY IL—T 100%
EKEE ANAY JL—T 91%
EKEE AIRDO 81%
A JALY IL—T 97%
A ANAY JL—T 72%
NN JALY IL—T 88%
NN ANAY JL—T 83%
b &R JALY IL—T 94%
b &R ANAY JL—T 93%
F5 JALY IL—T 100%
F5 ANAY JL—T 100%
EsFi] JALY IL—T 97%
EsFi] ANAY JL—T 91%
EsFi] ARB—D754Y¥— 57%
#HE ANAY )L—T 96%
#HE AHA<T—H 88%
i L JALY IL—T 91%
i Lt ANAY JL—T 90%
IN=] JALY L—T 98%
IN=] ANAY )L—T 92%
WOFH JALY IL—T 71%
WOFH ANAY JL—T 88%
WOFH RA—D754 ¥ — 78%
= JALY L—T 89%
= ANAY )L—T 90%
mE JALY L—T 98%
mE ANAY )L—T 80%
NI JALY IL—T 81%
NI ANAY JL—T 92%

OHFTRES

R MZet PBB{# &%
FIH JALT )L—T 100%
FH ANAY )L—T 100%
FH AIRDO 100%
JF1H AWM —9 97%

2 Al JALY IL—T 69%

i Al ANAY JL—T 79%
a5 JALY L—T 57%
a5 ANAY )L—T 62%
A JALY IL—T 97%
A ANAY JL—T 53%
= JALY IL—T 98%
= ANAY JL—T 92%
= AIRDO 99%
= Peach - Aviation 72%
= FARNYHIRIT AV R 0%
if JALY IL—T 99%
if ANAY JL—T 89%
A JALY IL—T 100%
A ANAY )L—T 100%
A Peach- Aviation 65%
mRE STy RE—-TxsRy 79%
A EUMZEER 96%
b &R JALY IL—T 100%
th &R ANAY )L—T 100%
b &R AIRDO 98%
th &R STy RE—-TxsRy 59%
b &R IFFOT -OxiNw 71%
b &R ANII—Y 100%
F5 JALY IL—T 100%
F5 ANAY )L—T 100%
EsFi] JALY IL—T 99%
EsFi] ANAY )L—T 100%
EsFi] Peach - Aviation 92%
BE 78 SIYhRE—- TRy 98%
#HE ANAY )L—T 100%
#HE AIRDO 75%
#HE AHA<T—4 67%
IN=] JALY L—T 100%
IN=] ANAY )L—T 100%
12 JALY IL—T 100%
12 ANAY )L—T 100%
&0 Peach*Aviation 98%
L1 ANA<R—) 50%




ORgZE

OflFgZEE
R MZet PBB{# &%
FIH JALT )L—T 100%
FH ANAY )L—T 100%
FH AIRDO 100%
OHEEZEE
R MZet PBB{# &%
FIH JALT )L—T 100%
FH ANAY )L—T 100%
FH AIRDO 100%
b &R ANAY JL—T 100%
b &R AIRDO 100%
F51 JALY IL—T 100%
F5 ANAY JL—T 100%
O#FnZEE
R MZet PBB{# &%
F i JALT )L—T 100%
s ANAY JL—T 96%
F5 JALY IL—T 100%
F51 ANAY JL—T 99%
FFt FARYIRIT AR 98%
i ANAY )L—T 97%
= FARYIRITSAVRX 93%
12 7Y M )-LITFAVR 100%
O/MRZE?
R MZet PBB{# &%
FIH JALT )L—T 100%
FH ANAY )L—T 100%
] ANAY )L—T 100%
= FARYIRITSAVRX 100%

OLBZEE
R Zest PBB{#
FH JALZ IL—T | 100% |
FH ANAY JL—T 100%
T JALY )L—T 100%
T ANAY JL—T 100%
A FARYIRIT AR 98%
] EMMZERR 100%
OfBEEE
R Zest PBB{#
FH JALG IL—T | 99% |
FH ANAY JL—T 100%
Odt iz
R Zest PBB{#
FH JALZ IL—T | 100% |
FH RBA—754 ¥ — 100%
O LZE#
R Zest PBB{#
FH JALZ IL—T | 100% |
FH ANAY JL—T 100%
F7 JALY )L—T 100%
#7 ANAY JL—T 86%
OEMEE
R Zest PBB{#
FH JALZ IL—T | 100% |
FH ANAY JL—T 100%
(OP.N ¥
R Zest PBB{#
FH JALZ IL—T | 100% |
FH ANAY JL—T 100%
FH VYSURIT 100%
#7 JALY )L—T 100%
F7 ANAY JL—T 100%
#T FARYIRITSAVR 17%

BRER fizEstt | PBBEAE

FH JALT )L—T 100%

FH ANAY JL—T 100%

JF1H YSLURIT 100%

F5 JALY IL—T 100%

F51 ANAY JL—T 100%
OREARZEE

BRER fizEstt | PBBEAE

FH JALT )L—T 100%

FH ANAY JL—T 100%

JF1H YSLVRIT 100%

F51 JALY IL—T 99%

F5 ANAY )L—T 99%
OEIHFZEHE

BRER fizEstt | PBBEAE

FH JALT )L—T 100%

FH ANAY )L—T 100%

JF1H YSLVRIT 100%

F5 JALY IL—T 100%

R ANAY )L—T 100%
12 JALY IL—T 100%
12 ANAY )L—T 97%

FEI FUTUBLIT IS 93%
ORREZEHE

BRER fizEstt | PBBEAE

FH JALT )L—T 100%

FH ANAY )L—T 100%

JF1H AWM —9 68%

JF1H YSLVRIT 100%

th &R STy RE—-TxsRy 92%

& ABA<—Y 78%

b &R YSVRIT 100%
F5 JALY IL—T 100%
F5 ANAY )L—T 100%
T/X JALY L—T 98%

T/X ANII—Y 78%




OMBFEE

R MZet PBB{# &%
FIH JALT )L—T 100%
FH ANAY )L—T 97%
JF1H ANWA<R—9 94%
A JALY IL—T 100%
A ANAY JL—T 100%
A Peach- Aviation 64%
A STy RE—- TRy 64%
b &R JALY IL—T 91%
b &R ANAY JL—T 60%
th &R STy RE—- TRy 21%
b &R ANII—Y 84%
th &R YSURIF 72%
F5 JALY IL—T 100%
F5 ANAY JL—T 99%
EsFi] JALY IL—T 70%
EsFi] ANAY JL—T 83%
EsFi] Peach - Aviation 45%
BE 7 STy RE—-TxsRy 53%
#HE AHA<T—4 79%
#HE YSURIT 92%
12 JALY IL—T 95%
i ANAY )L—T 91%
&0 Peach*Aviation 75%
L1 ANWA<R—9 97%
=) JALY IL—T 94%
=) ANAY JL—T 84%
FAiE JALY IL—T 92%
FAiE ANAY JL—T 92%
FAiE YSURIF 76%




